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ABSTRACT. This is Exercise 3.2.6 from Hammack [Ham13, §3.2]:

Exercise 3.2.6. You toss a coin, then roll a die, and then draw a card from a 52-card deck. How
many different outcomes are there? How many outcomes are there in which the die lands on 3?
How many outcomes are there in which the die lands on an odd number? How many outcomes

are there in which the die lands on an odd number and the card is a King?

Solution. There are

2xX6x52

possible outcomes when you toss a coin (2 options), then roll a die (6 options), and then draw a
card from a 52-card deck (52 options).
There are

2x1x52

possible outcomes when the die lands on a 3 (1 option).
There are

2 X3 x52

possible outcomes when the die lands on an odd number (3 options).
There are

2x3x4

possible outcomes when the die lands on an odd number (3 options) and the card is a King (4

options).
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